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He requires it for what Abayeh said - MaNTo® 7 YA

Overview

The X723 explained that 3317 '3 cannot utilize the mw 77°1 of nnn (to teach us o%wn
7P12 °RY), since the nnn (of M1y WX nnn) is required as 2R expounded the 10D
(that there 1s a 391 DY payment). MO0 resolves a resulting difficulty.

nvoIN asks:
- 230m 19 NI )5 N Loy 109 HNH TIIVKINT 1929 9NN ON)

And if you will say; since 'nnn’' is needed for this w27 (of »2x), how do we then
know that the payment of a 0IX» needs to be awn?!

N1B0IN answers:
19091 IN 19N 299557 9215 W

And one can say that he derives the 2v°» payment from either 572901 or from no>.

Summary
We can derive 2v°n by 01Xn either from 73°01 ,nnN or AO2.

Thinking it over
Why did mpo1n assume (in his question) that we derive 20’ by 018» from nrn (and

not from 77°N1 or 1'103)74

' See (X3 and) ‘Overview’.

% See XX 11"7 2,25 '01n TIE footnote # 3 & 8. According to »ax (and 13m1° ") that the (73y WwX) nrn is utilized for w12
0301, how do we derive that if the biX» wants to pay the 2°2pw "1 in ¥p7p that he has to pay from 2av'n (the best of his
fields).

? The 7109 regarding a 0Ix» (in ¥3,2 [X¥N] ©°127) reads AWK 730 12 N9 LW [17w3T] WA *282 A9y 20W3 oK 100
"3 Ay W nop. The w'n regarding 2v'n can be derived from four different words, 105 ,0%w° ,n°n1 ,nrn. Therefore,
even though in this case we cannot derive it from nnn, however we can derive it either from 01 or from 703, which
is written in the same P102.

* See >"wn in NN 7T R, "2 that we derive 2 » by dixn from 703!
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